

OSCILLATION CRITERIA FOR SECOND-ORDER  
NONLINEAR DELAYED DIFFERENCE EQUATIONS  
WITH PULSES

Rongping Zhu<sup>1 §</sup>, Hong Zhang<sup>2</sup>

<sup>1,2</sup>Department of Mathematics

Jiangsu University

Zhenjiang, Jiangsu, 212013, P.R. CHINA

**Abstract:** The present paper is devoted to the investigation of the oscillation of a class of second-order nonlinear impulsive delay difference equations. Some interesting results are obtained, and some examples which illustrate that impulsive perturbations play a very important role in giving rise to oscillations of equations are also included.

**AMS Subject Classification:** 34K11

**Key Words:** oscillation, impulsive, difference equation, delay

1. Introduction

In the recent years, there has been much research activity concerning the oscillation and nonoscillation of solutions of ordinary differential equations and impulsive delay differential equations, numerous papers have been published and good results were obtained (see [9], [7], [2], [6], [8] and the references therein). But fewer paper are on impulsive difference equations [5], [4], [10].

In this paper, we consider the following impulsive delay difference equation

$$\begin{cases} \Delta(\varphi(x(n-1))(\Delta_\alpha x(n-1))^\sigma) + f(n, x(n-l)) = g(x(n)), \\ \alpha \geq 1, n \neq n_k, k \in N, \\ (\Delta_\alpha x(n_k))^\sigma = b_k(\Delta_\alpha x(n_k-1))^\sigma, \\ x(n_k) = b'_k x(n_k-1), \end{cases} \quad (1)$$

where  $\Delta x(n) = x(n+1) - x(n)$ ,  $\Delta_\alpha x(n) = x(n+1) - \alpha x(n)$ ,  $\sigma$  is a quotient of

---

Received: April 10, 2007

© 2007, Academic Publications Ltd.

<sup>§</sup>Correspondence author

odd positive integer,  $l \in N$ ,  $N$  is the natural number set,  $0 \leq n_0 < n_1 < \cdots < n_k, < \cdots$ , and  $\lim_{k \rightarrow \infty} n_k = \infty$ ,  $n_k - n_{k-1} > l$ .

Throughout this paper, we assume that the following conditions hold:

- (C1)  $uf(n, u) > 0 (u \neq 0)$  and there exists a nonnegative sequence  $\{p_n\}$  and a function  $u$  such that  $\frac{f(n, u)}{u^\sigma} \geq p_n$ ;
- (C2)  $\{b_k\}, \{b'_k\}$  are positive sequences;
- (C3)  $\varphi(\mu)$  is nonincreasing continuous,  $\mu\varphi(\mu) > 0 (\mu \neq 0)$  and  $\varphi(\lambda\mu) \leq \lambda\mu$  for  $\lambda \in R^+$ ; sequence;
- (C4)  $vg(v) \leq 0 (v \neq 0)$ .

For convince, we let

$$N[n_1, n_2] = \{n | n \in N, n_1 \leq n \leq n_2\}, \quad N[n_1, n_2) = \{n | n \in N, n_1 \leq n < n_2\},$$

$$N[n_1, \infty) = \{n | n \in N, n_1 \leq n < \infty\}$$

and

$$S(n) = \varphi(x(n-1))(\Delta_\alpha x(n-1))^\sigma$$

Solution of (1) is a real valued sequence  $\{x(n)\}$  defined on  $N[n_0 - l, \infty)$  which satisfies (1) for  $n \geq n_0$ . It is obvious that (1) has a unique solution  $\{x(n)\}_{n_0-l}^\infty$ , under the initial conditions

$$x(i) = y_i, \quad i = n_0 - l, \cdots, n_0, \quad (2)$$

in which  $y_i (i = n_0 - l, \cdots, n_0)$  are given real constants.

The solution of (1) is said to be nonoscillatory if this solution is eventually positive or eventually negative. Otherwise, this solution is said to be oscillatory.

## 2. Some Lemmas

**Lemma 1.** Assume that

$$\begin{cases} \Delta m(n) \leq l_n m(n) + q_n, & n \neq n_k, k \in N, \\ m(n_k + 1) \leq b_k m(n_k) + e_k, \end{cases}$$

where  $\{l_n\}$  and  $\{q_n\}$  are two real valued sequences and  $l_n > -1$ ,  $e_k, b_k$  are constants and  $b_k \geq 0$ . Then

$$\begin{aligned}
 m(n) &\leq m(n_0) \prod_{n_0 < n_k < n} b_k \prod_{n_0 < i < n, i \neq n_k, k \in N} (1 + l_i) \\
 &+ \sum_{n_0 < n_k < n} e_k \prod_{n_k < n_j < n} b_j \prod_{n_k < i < n, i \neq n_j, j \in N} (1 + l_i) \\
 &+ \sum_{i=n_0, i \neq n_k}^{n-1} \prod_{i < n_k < n} b_k \prod_{i < s < n, s \neq n_k} (1 + l_s) q_i, \quad n \geq n_0. \quad (3)
 \end{aligned}$$

*Proof.* This lemma is a discrete version of Theorem 1.4.1 in [3] and Lemma 1 in [1]. The proof can be followed from mathematical induction and direct analysis.

If  $n \in N[n_0, n_1]$ ,  $m(n) \leq m(n_0) \prod_{n_0 < i < n} (1 + l_i) + \sum_{i=n_0}^{n-1} \prod_{i < s < n} (1 + l_s) q_i$ , obviously, for  $n \in N[n_0, n_1]$ , (3) holds. We might assume for  $n \in N[n_0, n_p]$ , (3) also holds, thus, for  $n \in N(n_p, n_{p+1}]$ , we get

$$\begin{aligned}
 m(n) &\leq m(n_p + 1) \prod_{n_p < i < n} (1 + l_i) + \sum_{i=n_p}^{n-1} \prod_{i < s < n} (1 + l_s) q_i \\
 &\leq (b_p m(n_p) + e_p) \prod_{n_p < i < n} (1 + l_i) + \sum_{i=n_p}^{n-1} \prod_{i < s < n} (1 + l_s) q_i.
 \end{aligned}$$

From the induction hypothesis, the above inequality turns into

$$\begin{aligned}
 m(n) &\leq \{b_p [m(n_0) \prod_{n_0 < n_k < n_p} b_k \prod_{n_0 < i < n_p, i \neq n_k, k \in N} (1 + l_i) \\
 &+ \sum_{n_0 < n_k < n_p} e_k \prod_{n_k < n_j < n_p} b_j \prod_{n_k < i < n_p, i \neq n_j, j \in N} (1 + l_i) \\
 &+ \sum_{i=n_0, i \neq n_k}^{n_p-1} \prod_{i < n_k < n_p} b_k \prod_{i < s < n_p, s \neq n_k} (1 + l_s) q_i] + e_p\} \prod_{n_p < i < n} (1 + l_i) \\
 &+ \sum_{i=n_p}^{n-1} \prod_{i < s < n} (1 + l_s) q_i,
 \end{aligned}$$

which on simplification gives the estimate (3) for  $n \in N[n_0, n_{p+1}]$ . The proof is complete.  $\square$

**Lemma 2.** Let  $x(n)$  be a solution of (1). Suppose that there exist some  $N^* \geq n_0$  such that  $x(n) > 0$  for  $n \geq N^*$ , and the following conditions hold:

**(h1)** (C1) – (C4);

**(h2)** For all sufficiently large  $n_j \geq n_1$  the following inequality holds

$$\lim_{n \rightarrow \infty} \sum_{m=0}^{n-n_j} \alpha^{n-n_j-m} \prod_{n_j \leq n_k \leq n_j+m} (b_k b'_k)^{\frac{1}{\sigma}} = +\infty.$$

Then

$$\Delta_\alpha x(n_k - 1) \geq 0, \Delta_\alpha x(n) \geq 0, \quad n \in N[n_k, n_{k+1}](n_k - l > N^*).$$

*Proof.* Firstly, we show that

$$\Delta_\alpha x(n_k - 1) \geq 0$$

for any  $n_k \geq N^*$ . Otherwise, there exists some  $j$  such that

$$\Delta_\alpha x(n_j - 1) < 0$$

for  $n_j - 1 > N^*$ , from (1), (C2) and (C3), we get

$$\begin{aligned} \varphi(x(n_j))(\Delta_\alpha x(n_j))^\sigma &= \varphi(b'_j(x(n_j - 1)))b_j(\Delta_\alpha x(n_j - 1))^\sigma \\ &\leq b_j b'_j \varphi((x(n_j - 1)))(\Delta_\alpha x(n_j - 1))^\sigma < 0. \end{aligned}$$

Let

$$\varphi((x(n_j - 1)))(\Delta_\alpha x(n_j - 1))^\sigma = -\beta^\sigma \quad (\beta > 0).$$

By (1), for  $n \in N(n_{j+i-1}, n_{j+i})$ ,  $i = 1, 2, \dots$ , we have

$$\begin{aligned} \Delta S(n) &= \Delta(\varphi(x(n-1))(\Delta_\alpha x(n-1))^\sigma) \\ &= -f(n, x(n-l)) + g(x(n)) \leq -p_n(x(n-l))^\sigma. \end{aligned}$$

Hence,  $S(n)$  is monotonically decreasing in  $N(n_{j+i-1}, n_{j+i})$ . So,

$$\varphi(x(n_{j+1} - 1))(\Delta_\alpha x(n_{j+1} - 1))^\sigma \leq \varphi(x(n_j))(\Delta_\alpha x(n_j))^\sigma \leq -b_j b'_j \beta^\sigma < 0$$

and

$$\begin{aligned} \varphi(x(n_{j+2} - 1))(\Delta_\alpha x(n_{j+2} - 1))^\sigma &\leq \varphi(x(n_{j+1}))(\Delta_\alpha x(n_{j+1}))^\sigma \\ &\leq b_{j+1} b'_{j+1} \varphi(x(n_{j+1} - 1))(\Delta_\alpha x(n_{j+1} - 1))^\sigma \leq -b_{j+1} b'_{j+1} b_j b'_j \beta^\sigma < 0. \end{aligned}$$

By induction, we obtain

$$\varphi(x(n))(\Delta_\alpha x(n))^\sigma \leq -\beta^\sigma \prod_{n_j \leq n_k \leq n} b_k b'_k < 0.$$

Due to  $x(n) > 0$  for  $n \geq N^*$ , it follows from (C3) that there exists a positive constant  $c (< x(n))$  such that  $\varphi(x(n)) < \varphi(c)$ . Thus

$$\Delta_\alpha x(n) \leq -\frac{\beta}{(\varphi(c))^{\frac{1}{\sigma}}} \prod_{n_j \leq n_k \leq n} (b_k b'_k)^{\frac{1}{\sigma}}.$$

Now we go on the following calculation

$$x(n_j + 1) - \alpha x(n_j) = x(n_j + 1) - \alpha b'_j x(n_j - 1) \leq -\frac{\beta}{(\varphi(c))^{\frac{1}{\sigma}}} (b_j b'_j)^{\frac{1}{\sigma}},$$

$$x(n_j + 2) - \alpha^2 x(n_j) \leq -\frac{\alpha\beta}{(\varphi(c))^{\frac{1}{\sigma}}} (b_j b'_j)^{\frac{1}{\sigma}} - \frac{\beta}{(\varphi(c))^{\frac{1}{\sigma}}} \prod_{n_j \leq n_k \leq n_j+1} (b_k b'_k)^{\frac{1}{\sigma}},$$

$$\begin{aligned} x(n_j + 3) - \alpha^3 x(n_j) &\leq -\frac{\alpha^2\beta}{(\varphi(c))^{\frac{1}{\sigma}}} (b_j b'_j)^{\frac{1}{\sigma}} - \frac{\alpha\beta}{(\varphi(c))^{\frac{1}{\sigma}}} \prod_{n_j \leq n_k \leq n_j+1} (b_k b'_k)^{\frac{1}{\sigma}} \\ &\quad - \frac{\beta}{(\varphi(c))^{\frac{1}{\sigma}}} \prod_{n_j \leq n_k \leq n_j+2} (b_k b'_k)^{\frac{1}{\sigma}}. \end{aligned}$$

By induction, we obtain

$$\begin{aligned} &x(n + 1) \\ &\leq \alpha^{n-n_j+1} b'_j x(n_j - 1) - \frac{\alpha^{n-n_j}\beta}{(\varphi(c))^{\frac{1}{\sigma}}} (b_j b'_j)^{\frac{1}{\sigma}} - \frac{\alpha^{n-n_j-1}\beta}{(\varphi(c))^{\frac{1}{\sigma}}} \prod_{n_j \leq n_k \leq n_j+1} (b_k b'_k)^{\frac{1}{\sigma}} \\ &\quad - \frac{\alpha^{n-n_j-2}\beta}{(\varphi(c))^{\frac{1}{\sigma}}} \prod_{n_j \leq n_k \leq n_j+2} (b_k b'_k)^{\frac{1}{\sigma}} - \dots - \frac{\alpha\beta}{(\varphi(c))^{\frac{1}{\sigma}}} \prod_{n_j \leq n_k \leq n-1} (b_k b'_k)^{\frac{1}{\sigma}} \\ &\quad - \frac{\beta}{(\varphi(c))^{\frac{1}{\sigma}}} \prod_{n_j \leq n_k \leq n} (b_k b'_k)^{\frac{1}{\sigma}}, \quad (4) \end{aligned}$$

in view of  $x(n) > 0$ , by (h2), we can find that the right side of (4) converges to  $-\infty$ , however, the left side of (4) is eventually positive, which is a contradiction. Therefore

$$\Delta_\alpha x(n_k - 1) \geq 0, \quad n_k - 1 \geq N^*.$$

By (C2), for  $\forall n_k \geq N^* + 1$ ,  $\varphi(x(n_k))(\Delta_\alpha x(n_k))^\sigma = b_k(\varphi(x(n_k - 1))(\Delta_\alpha x(n_k - 1))^\sigma) \geq 0$ . Because  $S(n)$  is monotonically decreasing in  $N(n_{j+i-1}, n_{j+i}]$ , therefore, we get  $S(n) > 0$  for  $n \in N(n_{j+i-1}, n_{j+i}]$ , which implies

$$\Delta_\alpha x(n) \geq 0.$$

The proof is complete.  $\square$

**Remark 3.** Suppose that  $x(n)$  is eventually negative, if (h1) and (h2) hold true, then we get  $\Delta_\alpha x(n_k - 1) \leq 0$ ,  $\Delta_\alpha x(n) \leq 0$ ,  $n \in N[n_k, n_{k+1})(n_k - l > N^*)$ .

### 3. Oscillation Criteria

**Theorem 4.** Suppose that condition (h1) and (h2) hold, and for all sufficiently large  $n_j$ ,

$$\sum_{i=n_j+1, i \neq n_k}^n p_i \prod_{n_j < n_k \leq i} \frac{\alpha^\sigma}{b_k b'_k} \longrightarrow +\infty (n \rightarrow \infty) \quad (5)$$

holds. Then every solution of (1) is oscillatory.

*Proof.* If (1) has a nonoscillatory solution  $x(n)$ , without loss of generality, we can assume that  $x(n) > 0 (n > n_0)$ . From Lemma 2, get  $\Delta_\alpha x(n) \geq 0$ ,  $n \in N[n_k, n_{k+1})(n_1 > n_0 + l)$ ,  $k = 1, 2, \dots$ .

Let

$$w(n) = \frac{\varphi(x(n-1))(\Delta_\alpha x(n-1))^\sigma}{(x(n-l))^\sigma}.$$

Then

$$w(n_k) \geq 0 (k = 1, 2, \dots), \quad w(n) \geq 0 (n \geq n_0).$$

Using (1) and (C1), we get

$$\begin{aligned} \Delta w(n) &= \frac{\varphi(x(n))(\Delta_\alpha x(n))^\sigma}{(x(n+1-l))^\sigma} - \frac{\varphi(x(n-1))(\Delta_\alpha x(n-1))^\sigma}{(x(n-l))^\sigma} \\ &= \frac{\Delta(\varphi(x(n-1))(\Delta_\alpha x(n-1))^\sigma)}{(x(n-l))^\sigma} - \frac{\varphi(x(n))(\Delta_\alpha x(n))^\sigma}{(x(n-l))^\sigma} + \frac{\varphi(x(n))(\Delta_\alpha x(n))^\sigma}{(x(n+1-l))^\sigma} \\ &= \frac{-f(n, x(n-l)) + g(x(n))}{(x(n-l))^\sigma} - \frac{\varphi(x(n))(\Delta_\alpha x(n))^\sigma \Delta((x(n-l))^\sigma)}{(x(n-l))^\sigma (x(n+1-l))^\sigma} \leq -p_n, \end{aligned}$$

$$w(n_k + 1) = \frac{\varphi(x(n_k))(\Delta_\alpha x(n_k))^\sigma}{(x(n_k + 1 - l))^\sigma} \leq \frac{b_k b'_k \varphi(x(n_k - 1))(\Delta_\alpha x(n_k - 1))^\sigma}{(x(n_k + 1 - l))^\sigma} \leq \frac{b_k b'_k}{\alpha^\sigma} w(n_k).$$

It follows from the above inequalities that  $w(n)$  satisfies the following difference inequalities

$$\begin{cases} \Delta w(n) \leq -p_n, & n \neq n_k, k \in N, \\ w(n_k + 1) \leq \frac{b_k b'_k}{\alpha^\sigma} w(n_k). \end{cases}$$

Applying Lemma 1, we have

$$\begin{aligned} w(n + 1) &\leq w(n_j) \prod_{n_j < n_k \leq n} \frac{b_k b'_k}{\alpha^\sigma} - \sum_{i=n_j+1, i \neq n_k}^n p_i \prod_{i < n_k \leq n} \frac{b_k b'_k}{\alpha^\sigma} \\ &= \prod_{n_j < n_k \leq n} \frac{b_k b'_k}{\alpha^\sigma} (w(n_j) - \sum_{i=n_j+1, i \neq n_k}^n p_i \prod_{n_j < n_k \leq i} \frac{\alpha^\sigma}{b_k b'_k}), \quad n \geq n_j. \end{aligned} \tag{6}$$

By (4), (6) and  $w(n) > 0$ , we can draw a contradiction as  $n \rightarrow \infty$ . Hence, every solution of (1) is oscillatory. The proof is complete.  $\square$

**Corollary 5.** *Assume that (h1) and (h2) hold and there exists a positive integer  $k_0$  such that  $\alpha \geq (b_k b'_k)^{\frac{1}{\sigma}}$  for  $k \geq k_0$ . If*

$$\sum_{n \neq n_k, k \in N} p_n = +\infty, \tag{7}$$

then every solution of (1) is oscillatory.

*Proof.* Without loss of generality, let  $k_0 = 1$ . It follows from  $\alpha \geq (b_k b'_k)^{\frac{1}{\sigma}}$  that

$$\sum_{i=n_j+1, i \neq n_k, k \in N}^n p_i \prod_{n_j < n_k \leq i} \frac{\alpha^\sigma}{b_k b'_k} \geq \sum_{i=n_j+1, i \neq n_k, k \in N}^n p_i. \tag{8}$$

Let  $n \rightarrow \infty$ , applying (7) and (8), we get (4). According to Theorem 4 we get every solution of (1) is oscillatory.  $\square$

**Corollary 6.** *Assume that (h1) and (h2) hold and there exists a positive integer  $k_0$  such that  $\alpha \geq \frac{n_k+1}{n_k} (b_k b'_k)^{\frac{1}{\sigma}}$  for  $k \geq k_0$ . If*

$$\sum_{n \neq n_k, k \in N} n^\sigma p_n = +\infty, \tag{9}$$

then every solution of (1) is oscillatory.

*Proof.* Without loss of generality, let  $k_0 = 1$ . It follows from  $\alpha \geq \frac{n_{k+1}}{n_k}(b_k b'_k)^{\frac{1}{\sigma}}$  that

$$\begin{aligned} & \sum_{i=n_0, i \neq n_k, k \in N}^n p_i \prod_{n_0 \leq n_k \leq i} \frac{\alpha^\sigma}{b_k b'_k} = \sum_{i=n_0}^{n_1-1} p_i + \frac{\alpha^\sigma}{b_1 b'_1} \sum_{i=n_1+1}^{n_2-1} p_i + \cdots \\ & \quad + \frac{\alpha^{j\sigma}}{b_1 b'_1 b_2 b'_2 b_3 b'_3 \cdots b_j b'_j} \sum_{i=n_j+1, i \neq n_k, k \in N[j+1, \infty)}^n p_i \\ & \geq \frac{\alpha^\sigma}{b_1 b'_1} \sum_{s=n_1+1}^{n_2-1} p_s + \cdots + \frac{\alpha^{j\sigma}}{b_1 b'_1 b_2 b'_2 b_3 b'_3 \cdots b_j b'_j} \sum_{s=n_j+1, i \neq n_k, k \in N[j+1, \infty)}^n p_s \\ & \geq \frac{1}{n_1^\sigma} \left[ \sum_{s=n_1+1}^{n_2-1} (n_2)^\sigma p_s + \cdots + \sum_{s=n_j+1}^n (n_{j+1})^\sigma p_s \right] \\ & = \frac{1}{n_1^\sigma} \sum_{s=n_1+1, s \neq n_k, k \in N}^n s^\sigma p_s, \quad n \in N(n_j, n_{j+1}). \end{aligned}$$

Let  $n \rightarrow \infty$ , applying (9), we get (4). According to Theorem 4 we get every solution of (1) is oscillatory.  $\square$

### 4. An Example

Consider impulsive delay difference equation

$$\begin{cases} \Delta \left( \frac{x(n-1)}{\ln(n-1)} \Delta_2 x(n-1) \right) + \frac{(\ln \frac{n^2}{n^2-1} + \ln \frac{n}{n-1} - \frac{1}{n^2})}{\ln(n-l)} x(n-l) \\ \quad = -\frac{1}{n^2} \operatorname{sgn}(x(n)), \quad n \neq 2k, k \in N, \\ \Delta_2 x(2k) = \frac{k}{k+1} \Delta_2 x(2k-1), \\ x(2k) = \frac{k+1}{k} x(2k-1), \end{cases} \tag{10}$$

in which  $\sigma = 1$ ,  $\varphi(x) = \frac{x}{\ln(n-1)}$ ,  $\alpha = 2$ ,  $p_n = \frac{(\ln \frac{n^2}{n^2-1} + \ln \frac{n}{n-1} - \frac{1}{n^2})}{\ln(n-l)}$ ,  $b_k = \frac{k}{k+1}$ ,  $b'_k = \frac{k+1}{k}$ . Applying Corollary 5, we get every solution of (10) is oscillatory. But the delay difference equation

$$\Delta \left( \frac{x(n-1)}{\ln(n-1)} \Delta_2 x(n-1) \right) + \frac{(\ln \frac{n^2}{n^2-1} + \ln \frac{n}{n-1} - \frac{1}{n^2})}{\ln(n-l)} x(n-l) = -\frac{1}{n^2} \operatorname{sgn}(x(n))$$

has a nonoscillatory solution  $x(n) = \ln n$ .



### References

- [1] D.D. Bainov, P.S. Simenov, *Impulsive Differential Equations: Periodic Solutions and Applications*, Longman, England (1993).
- [2] L. Berezhansky, E. Braveman, Oscillation and other properties of linear impulsive and nonimpulsive delay equations, *Appl. Math. Lett.*, **16** (2003), 1025-1030.
- [3] V. Lakshmikantham, D.D. Bainov, P.S. Simenov, *Theory of Impulsive Differential Equations*, World Scientific, Singapore (1989).
- [4] M. Peng, Oscillation theorems of second-order nonlinear neutral delay difference equations with impulses, *Comput. Math. Appl.*, **44** (2002), 741-748.
- [5] M. Peng, Oscillation criteria for second-order impulsive delay difference equations, *Appl. Math. Comp.*, **146** (2003), 227-235.
- [6] Q. Yang, Interval oscillation criteria for a forced second nonlinear ordinary differential equations with oscillatory potential, *Appl. Math. Comp.*, **135** (2003), 49-64.
- [7] J. Yan, C. Kon, Oscillation of solutions of impulsive delay differential equations, *J. Math. Anal. Appl.*, **254** (2001), 358-370.
- [8] Q. Yang, L. Yang, S. Zhu, Interval criteria for oscillation of second-order nonlinear neutral differential equations, *Comput. Math. Appl.*, **46** (2003), 903-918.
- [9] J. Yan, A. Zhao, Oscillation and stability of linear impulsive delay differential equations, *J. Math. Anal. Appl.*, **227** (1998), 187-194.
- [10] H. Zhang, L.S. Chen, Oscillation criteria for a class of second-order impulsive delay difference equation, *Advances in Complex Systems*, **9** (2006), 69-76.

